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YTnpeoia : MNINAKAZ KATATAZHZ & BAOMOAOTIAZ [ Y apifu. £.0.X.: FOX5/2024
‘Edpa YTnpeaiag : NAOYZA YNOWH®IOQON KATHIOPIAZ AE
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(o) [(1B) | (2) | (3) | (4) | (5) | (6) | (7) (8) (9) (10)
24304 BOPIAZIAHZ 2ABBAZ ANTQNIOZ AZ324559 OXI 1 0 0 OXl  OXlI OXl 0 19.80 OXI 0 ()4 oxi 396.00 396.00 1
24669 MAMNAIQANNOY XPHZTOZXZ IQANNHZ AI887550  OXI B NAI 3 12.60 200 150 252.00 602.00 2
24637 TZIMMNPHZ NIKOAAOZ MAZXAAHZ D247721 OXIl B 4 14.27 200 285.40 485.40 3
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AZEN : Mivakag katdragng utrown@iwv opiopévou xpévou 1 amé 1395
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